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	注意事項
	1.請先核對考試科目與報考所別是否相符。

2.請在考完後將「答案冊」及「試題」一併繳回。

3.本試題紙空白處或背面，可做草稿使用。
4.不可使用計算機。


(1) Given a ramp function (斜坡函數) 
[image: image1.wmf]t

, sketch (繪出) the following function waveform.
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where u(t) denotes the unit step function.   

(2) Find a Laplace Transform F(s) of the following function f(t). 
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(3) Solve the following differential equation.                
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(4) Please explain the physical meanings (物理意義) of the vector operation. 
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  (5) orthonormal vector

(5) Determine the value of 
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 so that 
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 are perpendicular (垂直)? (7%)

(6) Prove that 
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(7) Evaluate the determinant (行列式值) of the following matrix A and B.
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(8) Find eigenvalues and corresponding eigenvectors of the matrix 
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(9)  Consider the following function 
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(a)  Sketch the following function waveform f(t) .










(b)  Find the Laplace Transform F(s).    
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